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Supporting Information: Plots of Deformation Index (DI) vs Velocity
for 10 individual Red Blood Cells (RBCs) in each sample



Healthy RBCs — 1 hour
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Healthy RBCs — 72 hours
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RBCs + 0.01% Fe-MNPs — 1 hour
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RBCs + 0.01% Fe-MNPs — 72 hours
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RBCs + 0.1% Fe-MNPs — 1 hour

Velocity (cm/s)

Velocity (cnv/s)

RBC 1 RBC 2
1 1
08 08
3 0.6 3 0.6 -
= & T
B 04 ] A 04
02 =& — 02 | &
i =1h _,-" =1h
0 T T T 0 - T T T
20 40 60 30 20 40 60 80
Velocity (cn/s) Velocity (cnvs)
RBC 3 RBC 14
1 1
0.8 . - 038 =
306 e 3 06 e
& =
B 04 . B 04 .
02 T 02 -
4 =1h -_,r: «1h
0 T T T 0 : . T
20 40 60 80 20 40 60 80
Velocity (cm/s) Velocity (em/s)
RBC 35 RBC6
1 1
0.8 5 - 0.8
et " . i
3 06 N
& - = el
5 0.4 " E 0.4
02 | 02 | . :
. =1h o =1h
0 T T T 0 . ! ! !
20 . 40 60 80 20 40 60 30
Velocity (cm/s) Velocity (em/s)
RBC7 RBC38
1 1
038 038 . .
206 2 06 -
) Z
A 04 A 04 .
02 : 0.2 e
;o «1h £ =1h
0 T T T 0 T T T
20 40 60 80 20 40 60 80
Velocity (cm/s) Velocity (cm/s)
RBC9 RBC 10
1 1
08 . . o8| -
- e e
2 06 L R
& e N2 e
8 04 L B 04
02 | 02 |
“1h ’ “1h
0 T T T 0 T T T
20 40 60 80 20 40 60 80




RBCs + 0.1% Fe-MNPs — 72 hours
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RBCs + 0.01% Ce-NPs —1 hour
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RBCs + 0.01% Ce-NPs — 72 hours
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RBCs + 0.1% Ce-NPs — 1 hour
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RBCs + 0.1% Ce-NPs — 72 hours

Velocity (cm/s)

Velocity (cnv/s)

RBC1 RBC2
1 1
0.8 . 0.8
zos | - 206 -
&, = P
B 04 B 04
02 02
=72h b =72h
0 T T T 0 T T T
20 ] 40 60 80 20 40 60 80
Velocity (cnv/s) Velocity (cm/s)
RBC3 RBC 4
1 1
0.8 0.8
..~' ...
;:\ 0.6 ;‘ 0.6 .
& 5
B 04 A A 04 T
02 | = 02 |
ML L L
=72h ; =72h
0 T T T 0 T T T
20 40 60 80 20 40 60 80
Velocity (cm/s) Velocity (cny/s)
RBCS RBC 6
1 1
08 et 0.8 fut
. . e
Z 06 e Z 06
& < ot
8 04 A 2 04 =
L]
02 [ 02 ;
= 72h Y =72h
0 T T T 0 T T T
20 40 60 80 20 40 60 80
Velocity (cm/s) Velocity (cm/s)
RBC7 RBC 8
1 1
..
08 . - 08 | :
R .
706 3 06
= =
8 04 e B o4 | -
.
02 0.2
ia =72h =72h
0 T T T 0 T T T
20 ) 40 60 80 20 40 60 80
Velocity (cn/s) Velocity (cm/s)
RBC9 RBC 10
1 1
0.8 - u I T e — e E— s .
e —
’;:\ 0.6 . ’; 0.6
& =
2 04 e 8 04
02 | ¢ 02
: 720 , =72h
0 T T T 0 T T T
20 40 60 80 20 40 60 80




